
ASSEMBLY  INSTRUCTIONS

PAGE 1 OF 3NOTE : MUST TIGHTEN SCREWS PERIODCALLY.SCREW NATURALLY LOOSEN WITH USE.CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

Attach Head Board Leg ( C ) to Head Board ( A ) as shown using JCBC BOLT ( 1 ) with

Spring Washer (2),Flat washer (3) and securing with ALLEN KEY (4 ).
STEP 1 :

Loosen the JCBB Bolt from Headboard (A) and Footboard (B) using

ALLEN KEY (11).Attach the Side Rail (D) to Headboard (A) and

Footboard (B) by pushing the bracket down to fit it.

Tighten the JCBB Bolt by ALLEN KEY (11).

STEP 2 :

No ITEM Qty

A

Headboard

1 pc

B

Footboard

1 pc

C

Headboard Leg (L)

1 pcs

No ITEM Qty

D

Side rail

2 pcs

E

Center slat drawer

1 pc

F

Bed slat

3 pcs

G

Bed slat support

3 pcs

H

Drawer slat support

1 pc

I

Drawer support rail

2 pcs

No ITEM Qty

J

Drawer

2 pcs

No ITEM Qty

1
JCBC M6 x 35mm

8 pcs

2
SPRING WASHER    1/4" Rbw

8 pcs

3
Flat Washer 1/4"ID x 13mmOD

Blk 8 pcs

4
ALLEN KEY m4x65mm Blk

1 pc

5

12V+12W+1A Adaptor x 1

With ETL Certificate (US)

1 pc

No ITEM Qty

5
CSK M4 x 32mm 32

pcs

6
JCBC M6 x 35mm

2 pcs

7
JCBC M6 x 50mm

3 pcs

8
SPRING WASHER    1/4" Rbw

2 pcs

9
Flat Washer 1/4"ID x 13mmOD

Blk 2 pcs

10
ALLEN KEY m4x65mm Blk

1 pc

11
ALLEN KEY m5x65mm Blk

1 pc

D

B

C

D

12

12

D

C

( STEP 2 )

( STEP 1 )

MODEL : HD103A

KING STORAGE BED(14+1+3)

x8

C

RIGHT

LEFT

2

1

4

3

A

C

ABACK VIEW



ASSEMBLY  INSTRUCTIONS

PAGE 2 OF 3NOTE : MUST TIGHTEN SCREWS PERIODCALLY.SCREW NATURALLY LOOSEN WITH USE.CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

Attach the Center Slat Drawer ( E ) to Side Rail ( D )  as shown using

CSK Screw ( 5 ) and tighten with Screw Driver.(Not Included)
STEP 3 :

Attach the Drawer Support Rail ( I ) as shown using CSK Screw ( 5 ) and

tighten with Screw Driver.(Not Included)

Attach the Support Slat Drawer ( H ) to Center Slat Drawer  ( E )  as shown using

JCBC Bolt ( 7 ) and tighten with ALLEN KEY ( 10 ).
STEP 4 :

STEP 5 .1 :

STEP 5 .2 :Using JCBC Bolt ( 8 ) with Spring Washer ( 9 ),Flat Washer ( 10 ) and securing

with ALLEN KEY ( 11 ).

STEP 6 .1 :

STEP 6 .2 :

Insert the Drawer ( J ) at the Drawer Support Rail ( I ).

Remove HANDLE and using a Philips head  screw driver as shown

D

E

D

E

5

x2

E

H

10

7

5

I

11

7

8

9

I

I

x2

x2

L

D

E

B

STEP 1.1 STEP 1.2

I



ASSEMBLY  INSTRUCTIONS

PAGE 3 OF 3NOTE : MUST TIGHTEN SCREWS PERIODCALLY.SCREW NATURALLY LOOSEN WITH USE.CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

5

D

x28

 Attach slat support (G) and center slat (E)to bed slat (F)as shown. Using JCBC BOLT (7)

 then securing with ALLEN KEY (10).

STEP 7 : Fix the Bed Slat ( F ) by push closely to the Side Rail ( D ) by using CSK Screw ( 5 )

as shown.

STEP 8 :

D

F

3x

5.2
G

E

F
7

7

7

G
E

F

7

10

STEP 9 :

ON & OFF TOUCH
SWITCH BUTTON

Back View

5

Plug into Electric outlet

REMARK!!
REMOVE THE ADAPTOR
FROM THE BOX


	0451A- A.I Queen Full  pg1
	Sheets and Views
	Model


	0451A- A.I Queen Full  pg2
	Sheets and Views
	Model


	0451A- A.I Queen Full  pg3
	Sheets and Views
	Model



